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Question

By starting at the top of the triangle below and moving to adjacent numbers on the row belo

, the maximum total from top to bottom is 23.

3

74
246
8593

Thatis,3+7 +4 +9 = 23.
Find the maximum total from top to bottom of the triangle below:

75

95 64

17 47 82

18 3587 10

20 04 82 47 65
1901237503 34
8802 77 73 07 63 67
99 6504 28 06 16 70 92
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41 41 26 56 83 40 80 70 33

4148 72 3347 32371694 29
53714465254391529751 14
70113328777317783968 1757
9171523817 149143 58 50 27 29 48

63 66 04 68 89 53 67 30 73 16 69 87 40 31
04 6298 27 23 09 70 98 73 93 38 53 60 04 23

NOTE: As there are only 16384 routes, it is possible to solve this problem by trying every route
However, Problem 67, is the same challenge with a triangle containing one-hundred rows; it
annot be solved by brute force, and requires a clever method! ;0)

Analysis

1.58 1175 MEURBERSE 1 175 | MEEES - 17% ) MR EBESEE], REITRIEY!
BAIZ5r, RizB

Afij} +=\max \{A_{i-1j-1}LA_{i-1j}\}

2. BREARI, RBEXRFE—ITHEAE, EILER 1 fBEREERIKEIA,

QS}%: (2019.11.6) IZIRE LM FAANFERIREFEFIFES, MRRE TN LANAANESEATNE

4.(2019.11.6) get_max B9 lambda FA 4L ERR#EF .

Program

#BLEmT
numbers = [[75],
[95, 64],
[17, 47, 82],
[18, 35, 87, 10],
[20, 04, 82, 47, 65],
[19, 01, 23, 75, 03, 34],
[88, 02, 77, 73, 07, 63, 67],
[99, 65, 04, 28, 06, 16, 70, 92],
[41, 41, 26, 56, 83, 40, 80, 70, 33],
[41, 48, 72, 33, 47, 32, 37, 16, 94, 29],
[53, 71, 44, 65, 25, 43, 91, 52, 97, 51, 14],
[70, 11, 33, 28, 77,73, 17,78, 39, 68, 17, 57],
[91, 71, 52, 38, 17, 14, 91, 43, 58, 50, 27, 29, 48],
[63, 66, 04, 68, 89, 53, 67, 30, 73, 16, 69, 87, 40, 31],
[04, 62, 98, 27, 23, 09, 70, 98, 73, 93, 38, 53, 60, 4, 23]]

get max = lambda a, b:aifa > belseb
rows = len(hnumbers)
foriin range(1, rows):

columns = len(numbersJi])
for j in range(columns):
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a =0ifj == 0 else numbers]i - 1][j - 1]
b = 0if j == len(numbers]i - 1]) else numbers]i - 1]j]
numbers[i][j] += get_max(a, b)

rst = max(numbers[-1])
print(rst)

#BTmE
numbers = [[75],
[95, 64],
[17, 47, 82],
[18, 35, 87, 10],
[20, 04, 82, 47, 65],
[19, 01, 23, 75, 03, 34],
[88, 02, 77,73, 07, 63, 67],
[99, 65, 04, 28, 06, 16, 70, 92],
[41, 41, 26, 56, 83, 40, 80, 70, 33],
[41, 48, 72, 33,47, 32, 37, 16, 94, 29],
[53, 71, 44, 65, 25, 43, 91, 52, 97, 51, 14],
[70, 11, 33, 28,77, 73,17, 78, 39, 68, 17, 57],
[91, 71, 52, 38, 17, 14, 91, 43, 58, 50, 27, 29, 48],
[63, 66, 04, 68, 89, 53, 67, 30, 73, 16, 69, 87, 40, 31],
[04, 62, 98, 27, 23, 09, 70, 98, 73, 93, 38, 53, 60, 4, 23]]

rows = len(numbers)
foriin range(rows - 2, -1, -1): # MEIEEE _17HREIE—T
columns = len(numbersJi])
for j in range(columns):
a = numbersl[i + 1][j]
b = numbers[i + 1][j + 1]
numbers[i][j] += max(a, b)

rst = numbers[0][0]
print(rst)
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